На элементах "И", "ИЛИ", "НЕ", "И-НЕ" и "ИЛИ-НЕ" реализуйте логическую схему, согласно приведенной функции. 
Распределение вариантов:
1. [image: F(A,B,C)= \overline{A+B+\overline C} + A\cdot B\cdot C \cdot (\overline {\overline A+B})];
2. [image: F(A,B,C)= \overline{A+\overline B+\overline C} \cdot (A\cdot B\cdot C) + (\overline {A+B})];
3. [image: F(A,B,C)=(\overline A+\overline B+\overline C) \cdot (\overline A\cdot B\cdot C) + (\overline {\overline C+A}})];
4. [image: F(A,B,C)=(\overline {(A+\overline B+\overline C)\cdot  \overline A\cdot B\cdot C} + (\overline {\overline B+A}})];
5. [image: F(A,B,C)=(\overline {A+\overline B}+\overline C) \cdot (\overline C\cdot B\cdot A) + (\overline {\overline B+A+C}})];
6. [image: F(A,B,C)=(\overline {B+\overline C}+\overline A) \cdot (\overline B\cdot (B+ A) + (\overline {\overline A+A+C}})];
7. [image: F(A,B,C)=(\overline {B+\overline {C\cdot A}}+\overline C) \cdot (\overline A\cdot (C+ A) + (\overline {\overline A+B+C}})];
8. [image: F(A,B,C)=\overline B+\overline {C\cdot (A+B)}+\overline {C \cdot (\overline A\cdot (\overline C+ B)} + (\overline {A+B+C}})];
9. [image: F(A,B,C)=\overline {C+B}+\overline {C\cdot (A+\overline A)}+\overline {B \cdot  A\cdot (\overline A+ B)} + (\overline {A+C}})];
10. [image: F(A,B,C)=\overline A+\overline {C+B}+\overline C\cdot (A+\overline B)+\overline B \cdot  A\cdot (\overline A+ C)} + (\overline {A+B}})].
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F(A,B,C)

(A+B+C)-(C-B-A) 4+ (B+A+0C)
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F(A,B,C)=(B+C+A)-(B-(B+A)+ (A+A+C)
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F(A,B,C)

(B+C-A+C)-(A-(C+A)+(A+B+C)
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F(A,B,C)=B+C-(A+B)+C-(A-(C+B)+(A+B+0C)
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F(A,B,C)=C+B+C-(A+A)+B-A-(A+B)+(A+0)
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F(A,B,C)=A+B+C+A-B-C-(A+ B)
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F(A,B,C)=A+B+C-(A-B-C)+(A+ B)




